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1/ Recopie et complète
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2/ Que remarque-t-on ?

3/ Il faut prouver cette remarque.

Soit a et b deux nombres positifs. On a

(p
a×

p
b

)2
= . . .

2
× . . .

2
= . . . . . .

p
a×b

2
= . . . . . .







. . . . . . . . . . . .

Donc (p
a ×

p
b

)2
−
p

a×b
2
= . . .

( . . . . . . . . . . . . . . . . . . . . . . . . )× ( . . . . . . . . . . . . . . . . . . . . . . . . ) = . . .

D’où (p
a ×

p
b

)

. . .
p

a×b ou
(p

a×
p

b

)

. . .−
p

a×b

︸ ︷︷ ︸

.........


